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HEAN tHILEE

—EB=F —TE_F

B HEBT BEET

= 3= 2 21,056.3 22,874.6
8B A (16,912.8) (15,623.7)
EM 4,143.5 7,250.9
H A U g 3 36.6 93.4
Ht () WA 4 (4,778.9) (774.2)
HERKEEMD (431.4) (423.7)
THEA (1,085.4) (1,144.1)
Hih 2 EE M (1,895.5) (1,899.7)
BIS BB KW AR E X (B18) &8 F 2 (4,011.1) 3,102.6
BM%EA 5 (1,824.1) (2,017.7)
BRI A 337.9 615.1
BE (BB R 6 (5,497.3) 1,700.0

PEAE B

/NS 93.7 250.5
HEZESE 212.7 314.6
BrBEAT (B548) R A (5,190.9) 2,265.1
I8 7 (401.6) (524.7)
BrBiE (E518) % T (5,592.5) 1,740.4
DERERER 781.0 (465.0)
R AT (B18) & F 8,27 (4,811.5) 1,275.4
g 9 131.5 431.5
BRER (BB BT 10 (2.21)% T 0.607% 7T
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